
  العادية2015 دورة سنة

2015 حسيـراى 10الأربعاء   

 اهتحانات الشهادة الثانىية العاهة

 فرع علىم الحياة

 وزارة التربية والتعلين العالي

 الوديرية العاهة للتربية

 دائرة الاهتحانات

:الاسن  

:الرقن  

 هسابقة في هادة علىم الحياة

ثلاث ساعات: الودة  

 

Traiter les exercices suivants: 

 

Exercice 1  (5 points)                     Mode d’action du Botox 
 

Les toxines botuliques sont à l’origine d’une maladie grave  

appelée botulisme. La maladie concerne l’ensemble des muscles et 

peut conduire à une paralysie des muscles respiratoires provoquant 

ainsi la mort. Ces toxines sont cependant très utilisées par toutes 

celles et ceux qui veulent gommer les traces du vieillissement 

(traitement anti-rides) en réalisant des injections de ces toxines 

« Botox » tous les 6 mois.  

Afin de déterminer le mode d’action du Botox, on réalise les 

expériences ci-après.  

Expérience 1 : Dans un milieu de culture physiologique et en 

utilisant un dispositif adéquat, on effectue quatre stimulations 

efficaces d’intensités croissantes sur un motoneurone innervant un 

muscle squelettique.  

On observe pour chacune des stimulations une contraction 

musculaire. On mesure aussi pour chacune, la fréquence de potentiels 

d’action au niveau du motoneurone présynaptique (doc.1), la 

concentration de calcium dans la terminaison présynaptique (doc. 2) 

etla quantité d’acétylcholine libérée dans la fente synaptique (doc. 3).  
 

1- Interpréter les résultats obtenus dans le document 1. 

2- Tracer la courbe montrant la variation de la quantité 

d’acétylcholine en fonction de l’intensité de stimulation. 

3- Préciser le type de codage du message nerveux mis en évidence 

par chacun des documents 2 et 3. 
 

Intensité de la 

stimulation (u.a.) 

Quantité d’acétylcholine 

libérée (u.a.) 

5 30 

10 40 

15 50 

20 60 

 

Document 1 

 
Document 2 



Expérience 2 : On ajoute du Botox au milieu de culture 

du dispositif de l’expérience 1. On refait les mêmes 

stimulations et on effectue les mêmes mesures.  On 

obtient les mêmes résultats que ceux obtenus dans 

l’expérience 1 à l’exception de ceux concernant la 

quantité d’acétylcholine libérée, et on n’observe aucune 

contraction musculaire pour les 4 intensités de 

stimulation.  
 

4- Formuler une hypothèse expliquant le mode d’action 

du Botox sur la transmission du message nerveux. 
 

Expérience 3 : On marque les vésicules présynaptiques 

d’un motoneurone de grenouille avec un colorant 

fluorescent. Ce neurone est placé dans un milieu 

contenant ou non de la toxine botulique. L’intensité de la  fluorescence à l’intérieur du bouton synaptique est 

mesurée avant et après la stimulation du neurone. Les résultats sont présentés dans le document 4. 
 

5- Déterminer, en se référant à l’expérience 3, le taux d’acétylcholine qui devrait être libéré dans 

l’expérience 2. 

6- Expliquer comment le Botoxagit pour gommer les rides sans provoquer la mort par intoxication.  

Document 3 

 

Document 4 



Exercice 2(5 points)              Rôles du foie dans la régulation de la glycémie 

 

La glycémie est une constante physiologique. Afin de 

mieux comprendre comment s’effectue sa régulation, on 

réalise les études ci-après. 

 

Observations cliniques : On surveille la glycémie en 

fonction du temps chez deux personnes saines X et Y. 

l’individu X, à jeun, ingère 50g de glucose au temps     0 

min puis on suit sa glycémie durant les 2 heures qui 

suivent (document 1). L’individu Y est suivi depuis son 

jeûne au temps noté T0 et durant les deux jours qui 

suivent (document 2).  
 

1- 1-1-Analyser les résultats de chacun des 

documents 1 et 2. 

1-2 - Que peut-on conclure ? 

 

Observations histologiques : Le document 3 

montre des coupes histologiques (x1000) du foie 

d’un animal à deux temps différents. Elles sont 

colorées en utilisant un colorant qui donne une 

coloration brune en présence du glycogène. La 

coupe A a été faite sur le foie d’un animal jeunant 

depuis 48h. La coupe B a été faite sur le foie du 

même animal ayant reçu récemment une nourriture 

riche en glucose. 
 

2- Déterminer le rôle du foie mis en évidence par 

les coupes histologiques. 

 

Expérience 1 : On réalise une expérience 

inspirée de l’expérience historique du foie 

lavé. Le protocole expérimental ainsi que les 

résultats sont présentés dans le document 4. 
 

3- Décrire l’expérience illustrée dans le 

document 4. 
 

Expérience 2 : On répète l’expérience 1 en 

effectuant l’incubation finale dans de l’eau 

distillée présentant des traces d’insuline, le 

résultat du test de détection du glucose reste 

négatif. 

 

Expérience 3 : On répète l’expérience 1 en 

effectuant l’incubation finale dans de l’eau 

distillée présentant des traces de glucagon. 

Après 5 minutes seulement, le résultat du test 

de détection du glucose devient positif. 
 

4- Montrer, en se référant aux 3 expériences, 

que  la glycogénolyse est modulée par 

l’action des hormones. 

5- Expliquer, en tenant compte de tout ce qui 

précède, les résultats obtenus dans les 

documents 1 et 2. 

 

 ↓ ingestion du glucose 

Temps (en min) 0 60 90 120 

Glycémie (en g/L) de 

l’individu X 
0,8 1,7 1, 3 0,9 

Document 1 

Temps T0 T1 T2 T3 

Glycémie (en g/L) de 

l’individu Y à jeun 
1 0,9 0,7 0,8 

Document 2 

 

Document 3 

 

Document 4 



Exercice 3 (5points) Chorée de Huntington 

 

La chorée de Huntington est une maladie neurodégénérative héréditaire très grave. Ses premiers symptômes 

apparaissent à l’âge adulte à partir de 25 ans.  

On cherche à déterminer le mode de transmission de cette maladie ainsi que son origine.  

 

Le document 1 montre l’arbre 

généalogique d’une famille dont 

certains membres sont atteints de la 

maladie. 
 

1- Indiquer si  l’allèle déterminant 

cette maladie est récessif ou 

dominant. Justifier la réponse. 

2- Déterminer la localisation du gène 

responsable de cette maladie.  
 

Tous les membres de cette famille sont 

âgés de plus de 25 ans, à l’exception 

des individus III3 et III5. Ces derniers 

comptent se marier mais craignent 

d’être atteints par cette maladie.  
 

3- Déterminer le risquepour 

chacun de ces deux individus 

III3 et III5d’être atteint par 

cette maladie.  

 

Des études ont montré que le 

gène qui code pour la protéine 

fonctionnelle,huntingtine, existe 

sous plusieurs formes alléliques 

qui  diffèrent entre elles par le 

nombre de triplets CAG. Le 

nombre de répétitions de CAG de 

chaque allèle est étudié chez des 

individus sains et chez des 

individus atteints. Les résultats 

sont présentés dans le document 

2.  
 

4- Déduire, des données statistiques du document 2, 

l’origine de cette maladie. 
 

L’analyse du gène de la femme III3 a révélé qu’elle possède 

deux allèles dont le nombre de répétitions CAG est 10 pour 

l’un et 15 pour l’autre. 
 

5- Préciser le génotype réel de cette femme. 
 

Une étude statistique a été effectuée sur l’âge d’apparition de 

la maladie en fonction du nombre des triplets CAG. Les 

résultats figurent dans le document 3.  
 

6- 6-1-Analyser les résultats obtenus du document 3. 

6-2-En conclure le facteur déterminant l’âge de 

l’apparition de la maladie.  

 

Document 3 

 

Document 2 

 

Document 1 



Exercice 4 (5 points)                  Lutte contre l’Ebola 
 

Le virus Ebola, qui provoque une fièvre hémorragique, est très contagieux et mortel. Il se transmet par le 

sang, la salive, les selles, ainsi que par les contacts sexuels.  

Les survivants ayant contracté la maladie présentent d’abord un taux élevé d’anticorps spécifiques anti-

Ebola, suivi de la disparition du virus avec une augmentation importante des LT cytotoxiques (LTc) 

spécifiques.  
 

1- Identifier la (ou les) réponse(s) 

immunitaire(s) déclenchée(s) contre l’Ebola. 
 

Pour développer des modalités de lutte ou de 

thérapie contre cette maladie, des chercheurs ont 

réalisé les expériences décrites ci-après. 
 

 En décembre 2011, des chercheurs ontmis au 

point un vaccin. Ils isolent une protéine de 

surface du virus,ils l’injectent à un premierlot de 

souris. 

A un deuxième lot, ils injectent la même protéine 

sous forme de complexes immuns nommés EIC 

(Ebola Immune Complexes). Et à un troisième 

lot, ils injectent les EIC avec une substance, le 

PIC. 

On répète 4 fois ces injections pour chacun des 

lots de souris. Deux semaines après chacune des 

injections, on prélève le sérum des souris et on 

dose les anticorps. Les résultats obtenus figurent 

dans le document 1. 
 

2- Déterminer le vaccin le plus efficace contre l’Ebola. 
 

La molécule PIC est un agoniste des protéines 

indispensables à la phagocytose. 
 

3- Indiquer les rôles et les moments d’intervention 

des macrophages dans la réponse immunitaire 

spécifique déclenchée contre l’Ebola. 
 

Deux lots de souris, ont été vaccinés par le mélange 

EIC+PIC, le premier lot reçoit 3 rappels et le second 

4 rappels du vaccin. Puis les deux lots sont 

contaminés par le virus de l’Ebola. Les résultats 

concernant la survie des animaux sont présentés 

dans le document 2. 
 

4- Déduire une condition de réussite de la vaccination 

contre l’Ebola. 
 

 En juin 2012, des chercheurs canadiensont effectué 

l’expérience suivante : deux lots de singes, infectés 

par le virus Ebola, ont reçu un mélange de trois 

anticorps spécifiques d’épitopes particuliers du 

virus. Les résultats obtenus sont présentés dans le 

document 3. 
 

5- Expliquer les résultats obtenus. 

6- Distinguer la sérothérapie de la vaccination, 

concernant : la nature de la substance injectée, le 

temps de latence et la durée de protection contre 

l’Ebola. 

Lots de 

singes 

Traitement 

effectué 

Nombre 

de singes 

Nombre 

de singes 

survivants 

A 

Infection par le 

virus puis 

injection 

d’anticorps 24 

heures après 

4 4 

B 

Infection par le 

virus puis 

injection 

d’anticorps 48 

heures après 

4 2 

Document 3 

Document 1 

 
Jour du prélèvement 

 

Document 2 

Légende : 

3 injections de EIC + PIC 

4 injections de EIC + PIC 



 

Partie 

de l’ex 

Exercice 1 

Mode d’action du Botox 

Note 

5 pts 

1 L’enregistrement obtenu dans l’axone du neurone présynaptiquedu document 1 montre des PA 

de même amplitude mais dont la fréquence augmente de 4 PA jusqu’à 17 PA quand l’intensité 

de stimulation augmente de 5 u.a à 20 u.a. Cela montre que la réponse de l’axone est modulée 

en fréquence de PA en fonction de l’intensité. 

1/2 

2 Courbe montrant la variation de la quantité de l’acétylcholine en fonction de l’intensité de la 

stimulation 

 

1 

3  Dans l’élément présynaptique, le message nerveux est modulé en concentration de Ca
2+

en 

fonction de l’intensité. Car le document 2 montre que la concentration de calcium dans 

l’élément présynaptique augmente de 1 u.a à 6 u.a lorsque l’intensité augmente de 5 à 20 u.a.  

Au niveau de la synapse, le message nerveux est modulé en concentration d’acétylcholine 

libérée en fonction de l’intensité carle document 3 montre que la quantité d’acétylcholine 

libérée augmente de 30 u.a jusqu’à 60 u.a quand l’intensité de stimulation augmente de 5 à 20 

u.a. 

1 

4 Hypothèse :  

Le Botoxinhibe la synthèse de l’acétylcholine. 

Le Botox inhibe l’exocytose de l’acétylcholine. 

Le Botox neutralise l’acétylcholine. 

Le Botox bloque les récepteurs postsynaptiques. 

1/2 

5 La fluorescence dans la terminaison synaptique, diminue de 50 u.a avant la stimulation 

jusqu’à 5 u.a après la stimulation dans un milieu sans toxine botulique. Alors que, dans un 

milieu contenant de la toxine botulique, elle reste presque constante de 50 u.a avant et après la 

stimulation. Alors latoxine botulique bloque la libération des neurotransmetteurs par 

exocytose des vésicules du bouton synaptique. Donc, dans un milieu avec de la toxine 

botulique, la quantité d’acétylcholine libérée devrait être  nulle.  

1 

6 Le Botox bloque la transmission du message nerveux au niveau des synapses 

neuromusculaires en bloquant la libération de l’acétylcholine. Ce qui empêche les contractions 

musculaires permanentes responsables des traces de vieillissement. 

Quand le Botox est injecté à faibles doses,son action seralimitée sur la zone traitée. Par contre, 

Si le Botox est utilisé à fortes doses, son action sera généralisée sur d’autres muscles, 

notamment les muscles respiratoires quiseraient en état de relâchement permanent; ce 

quiprovoquerait la mort de l’individu par asphyxie. 

 

½ 

 

 

½ 

 

 

 

 

Partie 

de l’ex 

Exercice 2 

Rôles du foie dans la régulation de la glycémie 

Note 

5 pts 

1.1 Chez l’individu X à jeun,il y a augmentation de la glycémie après ingestion de 50g de glucose, 

de 0,8 g/L à t = 0 min jusqu’à 1,7 g/L à t= 60 min. Par contre, la glycémie diminue pour 
¼ 
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atteindre 0,9 g/L entre 60 et 120 min. 

Chez l’individu Y à jeun,il y a diminution de la glycémie de 1 g/L jusqu’à 0,7entre T0 et T2. 

Par contre elle augmente faiblement à 0.8 g/L à  T3.  

 

¼ 

 

1.2 L’organisme possède un système de régulation de la glycémie capable de corriger une 

hypoglycémie ou une hyperglycémie. 

 

½ 

 

2 On observe l’apparition de la coloration brune indiquant la présence de glycogène uniquement 

dans la coupe B du foie suite à l’ingestion de nourriture riche en glucose chez un animal. Cela 

montre que le rôle du foie est de stocker le glucose sous forme de glycogène. 

 

½ 

 

3 On coupe un foie frais en petits morceaux. On met les morceaux de foie dans un cristallisoir 

auquel on ajoute de l’eau distillée. Après on introduit une bandelette pour détection du 

glucose. On obtient un test positif. On effectue le lavage des morceaux de foie. Après on les 

met dans un cristallisoir et on introduit une bandelette pour détection du glucose. On obtient 

un test négatif. Après incubation durant 20 min à 37°C, on plonge une bandelette pour 

détection du glucose, on obtient un test positif. 

 

1 

 

4 Le test de détection du glucose devient positif après incubation durant 20 min des morceaux 

de foie lavé. Cela montre que le foie libère du glucose. Par contre, le test reste négatif après 

incubation dans un milieu contenant de l’insuline. Cela montre que l’insuline bloque la 

libération du glucose en bloquant la glycogénolyse. 

Le test devient positif après incubation des morceaux dans un milieu contenant du glucagon 

mais seulement en 5 min, inférieur à 20 min temps indispensable pour avoir le test positif dans 

un milieu contenant seulement de l’eau distillée. Cela signifie que le glucagon accélère la 

libération du glucose en accélérantla glycogénolyse.  

La glycogénolyse effectuée par le foie et assurant la libération du glucose est bloquée par 

l’insuline et est accélérée par le glucagon. Ce qui justifie que la glycogénolyse est modulée 

par l’action des hormones, l’insuline et le glucagon. 

 

½ 

 

 

 

½ 

 

 

 

 

 

½ 

 

5 Le document 1 montre que l’ingestion du glucose provoque une hyperglycémie entre t = 0 

min et t = 60 min. Ce qui stimule la sécrétion de l’insuline par les cellules ß des îlots de 

Langerhans du pancréas. Cette hormone stimule glycogénogenèse (stocker le glucose sous 

forme de glycogène) effectuée parle foie et inhibe la glycogénolyse. Ce qui aboutit à la 

diminution de la glycémie à120 minutes. 

Le jeûne ne permet aucun apport exogène du glucose alors que le glucose dans le sang est 

toujours utilisé par les cellules de l’organisme. Ce qui fait diminuer la glycémie entre T0 et T2 

(document 2). Cette diminution stimule les cellules α des îlots de Langerhans à sécréter le 

glucagon. Ce dernier stimule la glycogénolyseeffectuée par le foie(libérer du glucose à partir 

du glycogène stocké). Ce qui permet de garder un taux presque constant et proche de la valeur 

initiale de la glycémie à partir de T3. 

 

½ 

 

 

 

 

½ 

 

 

 

 

 

 

 

 

 

Partie 

de l’ex 

Exercice 3 

Chorée de Huntington 

Note 

1 L’allèle de la maladie est dominant par rapport à l’allèle sain. Car les enfants sains III3 et III4 

proviennent de parents malades II1 et II2. Alors, l’allèle sain est portéà l’état masqué par au 

moins l’un des parents. 

Soit H le symbole de l’allèle malade dominant et s celui de l’allèle sain récessif. 

½ 

 

2 Si le gène est porté par la partie propre du chromosome Y, la maladie serait transmise du père à 

son fils.Or, le fils malade II4 provient d’un père I1 sain. Alors, le gène n’est pas porté par la 

partie propre au chromosome Y. 

¼ 

 

 



Si le gène est porté par la partie propre au chromosome X, la fille IV1 de phénotype sain 

récessif devrait être homozygoteXs//Xs, elle doit hériter l’allèle sain de son père III1 qui devrait 

être sain de génotypeXs//Y ; or ce père est malade. Alors le gène n’est pas porté par la partie 

propre au chromosome X. 

Si le gène est porté par la partie commune à X et à Y, la fille III3, de phénotype sain, hérite 

d’un Xs de son père II1, et le garçon III4, de phénotype sain, hérite d’un Ys de son père II1. Le 

père II1 devrait donc être de phénotype sain, or, il est de phénotype malade. Le gène n’est pas 

localisé sur la partie homologue de X et Y. 

Donc, le gène est porté par un autosome.  

¼ 

 

 

 

¼ 

 

 

 

¼ 

 

3 La mère II2 est atteinte de la maladie, elle est hétérozygote, car elle a hérité l’allèle H de sa 

mère et obligatoirement l’allèle s de son père homozygote récessif qui ne produit qu’un seul 

type de gamètes portant l’allèle sain s.  

Alors, la mère II2 produit 2 types de gamètes équiprobables H½ et s½.  

Le père II1 malade est hétérozygote car il a eu un enfant III4 sain homozygote qui a 

obligatoirement hérité un allèle s de son père. 

Alors, ce père produit deux types de gamètes équiprobables H½ et s½.  

Etant donné que l’allèle déterminant la maladie est dominant, il suffit d’avoir un seul allèle 

malade pour que l’enfant III3soit atteint. Le génotype de III3 peut être H//H 1/4 ou H//s 

1/2.Donc le risque pour que l’individu III3 soit atteint par la maladie est de ¾ des enfants. 

Le couple II5 et II6 estde phénotypesain récessif et la récessivité est un critère de pureté. Ces 

parents ne produisent qu’un seul type de gamètes portant l’allèle sain s. Alors tous leurs enfants 

seront sains. Le risqueque l’enfant III5 soit atteint est nul. 

½ 

 

 

 

 

 

 

 

 

 

 

½ 

 

4 Chez les individus sains, le nombre de répétitions CAG varie entre 8 et 30 pour les types 

d’allèles A1 jusqu’à A12. Ces allèles sont donc associés au phénotype sain. 

Alors que les individus atteints présentent deux groupes d’allèles : le premier est comme celui 

présent chez les individus sains, avec un nombre de répétitions entre 8 et 30, et le second 

groupe correspondant à des allèles dont le nombre de répétitions est compris entre 39 et 70. 

Alors, les allèles ayant un nombre de répétitions supérieur à 39  sont associés à la maladie. 

L’origine de la maladie est donc le grand de nombre de répétitions de CAG supérieur à 39. 

 

1 

 

5 Le génotype réel de III3 est s//s ou A6//A9. Car les deux allèles qu’elle possède montrent un 

nombre de répétitions de 10 et 15 respectivement, inférieur à 30 répétitions correspondant au 

groupe des allèles des individus de phénotype sain. Ces deux allèles sont parmi ceux qui 

déterminent un phénotype sain.  

¾ 

 

6-1 L’âge moyen de l’apparition de la maladie diminue de 49 ans jusqu’à 25 ans quand le nombre 

de répétitions de (CAG)n augmente de 40 jusqu’à 60.  
½ 

 

6-2 Le facteur déterminant l’âge de l’apparition de la maladie est le nombre élevé (>40)de 

répétitions par allèle. 
¼ 

 

 

  



 

Partie 

de l’ex 

Exercice 4 

Lutte contre l’Ebola 

Note 

5 pts 

1 La réponse immunitairespécifique à médiation humoraleest déclenchée dans le cas de 

l’Ebola, car les survivants présentent un taux élevé d’anticorps anti-Ebola sécrétés par les 

plasmocytes effecteurs de la RIS humorale.  

La réponse immunitaire spécifique à médiation cellulaireest aussi déclenchée,car les 

survivants présentent  une augmentation importante des Tc spécifiquesqui sont les 

effecteurs de la réponse RIS à médiation cellulaire. 

 

½ 

 

 

½ 

 

2 Le taux d’anticorps anti Ebola nul, reste constant au 14
e
 et au 35

e
 jour, après la première 

et la 2
e
 injection pour les trois types de vaccins. Après la 3

e
 injection de vaccins, ce taux  

augmente jusqu’à 1000 u.a,  au 56
ième

 j chez les individus ayant reçus EIC et PIC. Par 

contre, ce taux reste nul pour les deux autres lots après la même injection. Les taux 

d’anticorps augmentent chez les trois lots pour atteindre 10000 u.a, au 84
e
 jourchez les 

individus ayant reçu le vaccin EIC+PIC, valeur dix fois supérieure à 1000 obtenue avec 

le vaccin EIC seul ou la protéine seule. Ceci montre que le vaccin EIC+PIC est le plus 

efficace. 

 

¾ 

 

3 Au début de la réponse immunitaire spécifique, en tant que cellules présentatrices de 

l’antigène pour induire cette réponse. 

A la fin de la RIS, à médiation humorale, en effectuant la phagocytose du complexe 

immun pour éliminer les antigènes.  

 

1 

4 Entre 0 et 20 jours, le pourcentage de survie diminue de 100% jusqu’à 80% chez le lot 

recevant 4 injections. Mais cette diminution est 4 fois plus importante que celle, 20%, 

chez le lot recevant 3 injections. Donc, la condition de réussite de la vaccination contre 

l’Ebola est de faire 4 rappels du vaccin. 

 

½ 

 

5 Les anticorps injectés au bout de 24h neutralisent l’antigène et retardent suffisamment la 

propagation du virus, ce qui permet aux défenses du corps de réagir et de protéger tous 

les singes qui survivent(4/4). Alors que si l’injection est retardée jusqu’à 48 heures, les 

virus se multiplient plus rapidement que les lymphocytes impliqués dans la RIS et 

infectent des cellules assez nombreuses avant d’être neutralisés par les anticorps 

spécifiques injectés. Ce qui diminue l’efficacité de la défense du corps et la rend parfois 

insuffisante. Cela  explique la mort de deux des 4 singes infectés. 

 

1 

 

6 Dans la sérothérapie, les substances injectées sont des anticorps spécifiques. Par contre, 

dans la vaccination, les substances injectées sont des protéines virales ou antigéniques. 

Dans la sérothérapie, le temps de latence est nul. Par contre, dans la vaccination, le temps 

de latence est de deux semaines. 

Dans la sérothérapie, la durée de protection est courte alors que, dans la vaccination, 

cette protection est plus durable. 

 

¼ 

 

¼ 

 

¼ 
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Answer the following exercises: 
 

Exercise 1 (5 points)               Mode of Action of Botox 
 

Botulinum toxinsare at the origin of a serious disease called 

Botulism. This disease affects all the muscles and may lead to 

paralysis of the respiratory muscles thus causing death. 

However, these toxins are frequently used by all men and 

women who want to eliminate the signs of aging (anti-wrinkles 

treatment).This is realized by injecting these toxins “Botox” 

every 6 months. 

In order to determine the mode of action of Botox, the following 

experiments are performed. 
 

Experiment 1: In a physiological culture medium, using an 

appropriate experimental set up, four effective stimulations of 

increasing intensities are applied on a motor neuron that 

innervates a skeletal muscle. 

For each of the applied stimulations, a muscular contraction is 

observed. The frequency of action potentials at the level of the 

presynaptic motor neuron (doc.1), the concentration of calcium in the 

presynaptic terminal bud (doc.2), and the quantity of acetylcholine 

released in the synaptic cleft (doc.3) are measured for each of the 

applied stimulations.  
 

1- Interpret the obtained results in document 1. 

2- Draw the curve that showsthe variation of the quantity of 

acetylcholine as a function of the intensity of stimulation. 

3- Specify the type of coding ofthe nervous message that is revealed 

by each of the documents 2 and 3.  
 

Experiment 2: Botox is added to the culture medium of 

the experimental set up of experiment 1. The same 

stimulations as well as the same measurements are 

repeated. Same results as those of experiment 1 are 

obtained except for the quantity of the released 

acetylcholine. In addition, no muscular contraction is 

observed for the 4 intensities of stimulation. 
 

4- Formulate a hypothesis explaining the mode of 

action of Botox on the transmission of the nervous 

message. 
 

Experiment 3: The presynaptic vesicles of the motor 

neuron of a frog are labeledby a fluorescent dye. This 

neuron is placed in a medium with or without botulinum 

toxin. The intensity of fluorescence inside the 

presynaptic bud is measured before and after stimulating 

this neuron. The results are presented in document 4.  
 

5- Determine, referring to experiment 3, the quantity of 

acetylcholine that should be released in experiment 2. 

6- Explain how Botox eliminates the signs of aging 

without causing death by intoxication. 

Intensity of 

stimulation (a.u.) 

Quantity of released 

acetylcholine (a.u.) 

5 30 

10 40 

15 50 

20 60 

Document 3 

 

Document 2 

 

Document 4 

Without 

botulinumtoxin 
Withbotulinumtoxi

n 

 
 Document 1 

 



Exercise 2(5 points)              Role of the Liver in GlycemiaRegulation  
 

Glycemia is a physiological constancy. To better 

understand how it isregulated, the following studies 

arecarried out. 
 

Clinical observations:Glycemiais measured as function 

of time in two healthy individuals X and Y. Individual X 

who was fastingingests 50 g of glucose at time 0 minute; 

his glycemiais then monitored during the two hours that 

follow the ingestion (document 1).  

The glycemia of individual Y is monitored starting 

from the beginning of his fast at T0 and during the 

two days that follow (document2).  
 

1- 1-1- Analyze the results of each of the 

documents 1 and 2. 

       1-2- What can you conclude? 
 

Histological observations: Document 3 shows 

histological sections (x1000) of the liver of an 

animal at two different times. They are colored by 

adye that gives a brown color in the presence of 

glycogen. Section A was done on the liver of an 

animal fasting since 48h. Section B was done on 

the liver of the same animal after being fed recently 

with a meal rich in glucose. 
 

2- Determine the role of the liver revealed 

by the histological sections.  
 

Experiment 1: An experiment inspired by 

the historical experiment of the washed liver 

is performed.The experimental procedureand 

the obtained results are presented in 

document 4.  
 

3- Describe the experiment illustrated in 

document 4.  
 

Experiment 2: Experiment 1 is repeated 

with a final incubationin distilled water 

containing traces of insulin. The result of the 

glucose detection test remains negative. 

 

Experiment 3: Experiment 1 is repeated 

with a final incubationin distilled water 

containing traces ofglucagon. After only five 

minutes,the result of the glucose detection 

test becomes positive.  

 

4- Show, by referring to the 3 experiments, 

that glycogenolysis is modulated by the 

action of hormones.   

5- Explain, taking into considerationall 

what preceded, the results obtained in 

documents 1 and 2.  

 
 

 ↓ ingestion of glucose 

Time (in min) 0 60 90 120 

Glycemia (in g/L) of 

individual X 

0.8 1.7 1.3 0.9 

Document 1 

Time T0 T1 T2 T3 

Glycemia (in g/L) of 

individual Y 

1 0.9 0.7 0.8 

Document 2 

 

Document 3 

 

Document 4 



Exercise 3 (5 points)                          Huntington Chorea 
 

Huntington Chorea is a serious neurodegenerative hereditary disease. Its first symptoms appear in adults 

starting fromthe age of 25 years.  

We seek to determine the mode of transmission of this disease as well as its origin. 
 

Document 1 shows the pedigree of a 

family whose certain members are 

affected by this disease.  
 

1- Indicate whether the allele 

determining this disease is 

dominant or recessive. Justify the 

answer. 

2- Determine the localizationof the 

gene responsible for this disease. 
 

All the members of this family 

are over 25 years oldexcept 

individuals III3 and III5. The 

latter are willing to get married 

but are afraid of being affected 

by this disease.  
 

3- Determine the risk for each 

of individuals III3 and III5 

to be affected by this 

disease.  
 

Studies have shown that the 

gene coding for the functional 

protein, huntingtin, exists in 

many allelic forms that differ by 

the number of CAGtriplets. The 

number of repetitions of CAG 

triplet in each allele is studied 

in healthy individuals as well as 

in affected ones. The obtained 

results are presented in 

document 2.  
 

4- Deduce,based on the statistical results of document 2, 

the origin of this disease. 
 

The analysis of the genein woman III3 has revealed that 

she possesses two alleles.The number of repetitions of 

CAG in one of them is 10 andin the other it is 15. 
 

5- Specify the real genotype of this woman. 
 

A statistical studyhas been performed concerning the age 

of appearance of this disease in function of the number 

of CAGtriplets. The obtained results are shown in 

document 3.  
 

6- 6-1-Analyze the obtained results. 

6-2- Conclude the factor that determines the age of appearance of this disease. 

 

 

 

Document 2 

 

Document 1 

 

Document 3 



 

Exercise 4 (5 points)                  Fight Against Ebola 

 

Ebola isa very contagious and fatal virus that causes hemorrhagic fever. It is transmitted through blood, 

saliva,feces as well as through sexual contacts. 

Infected individuals who survived, show firsta high amount of specific anti-Ebolaantibodies, followed by the 

disappearance of the virus with an important increase in specific cytotoxic TL (TcL).  
 

1- Identify the immune response(s) triggered 

against Ebola. 
 

In order to develop fighting or therapeutic 

modalities against this disease, researchers 

performedexperiments that are described below. 
 

 In December 2011, researchers developed a 

vaccine. They isolated a surface protein of the 

virus and injected it to a first lot of mice. To a 

second lot, they injected the same protein in 

the form of immune complexes called EIC 

(Ebola Immune Complexes). To a third lot 

they injected the EIC anda substance,the PIC. 

The injections are repeated four times for each 

lot. Two weeks after each injection, serum is 

collected from the mice and the antibodies 

amounts were measured. The obtained results 

are presented in document 1. 
 

2- Determine the most efficient vaccine against 

Ebola. 
 

The molecule PIC is agonist to proteins that 

are indispensable for phagocytosis.  
 

3- Indicate the roles and the moments 

wheremacrophages intervene in the specific 

immune response triggered against Ebola.  
 

Two lots of micehave beenvaccinated using 

the mixture EIC+PIC, the first lot received 

three boosters for the vaccine and the second 

received four boosters.  After that both lots 

were contaminated by Ebola virus. The results 

concerning the survival of the mice are 

presented in document 2.  
 

4- Deduce one condition for the vaccination 

against Ebola to be successful.  
 

 In June 2012, Canadian researchers 

performed the following experiment: two 

lots of monkeys, infected by the Ebola 

virus, received a mixture of three 

antibodies specific to particular epitopes of 

the virus. The obtained results are 

presented in document 3.  
 

5- Explain theobtained results. 

6- Distinguish serotherapy from vaccination concerning: the nature of the injected substance, the latency 

period and the duration of the protection established against Ebola. 

Lots of 

monkeys 
Performed treatment 

Number of 

monkeys 

Number of 

surviving 

monkeys 

A 

Infection by the virus 

then injection of 

antibodies 24 hours 

after infection  

4 4 

B 

Infection by the virus 

then injection of 

antibodies 48 hours 

after infection  

4 2 

Document 3 

 

Document 1 

Day of collection 

 

Document 2 

Legend : 

        3 injections ofEIC + PIC 

        4 injections of EIC + PIC 
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Part 

of the 

ex 

Exercise 1 

Mode of Action of Botox 

 

Grade 

5 pts 

1 The recording obtained at the level of the axon of the presynaptic neuron of document 

1shows APsof same amplitude. However, the frequency of AP increases from 4 APs 

to 17 when the intensity of the stimulation increases from 5 a.u.to 20 a.u. This shows 

that the response of the axon is modulated by the frequency of APas function of the 

intensity of stimulation. 

1/2 

2 Curve showing the variation of the quantity of acetylcholine as a function of the 

intensity of stimulation. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1 

3 At the level of the presynaptic neuron, the nervous message is modulated by the 

concentration of calcium as function of the intensity of stimulation, since document 2 

shows that the concentration of calcium in the presynaptic element increases from  

1 a.u. to 6 a.u when the intensity of stimulation increases from 5 a.uto 20 a.u.  

At the level of the synapse, the nervous message is modulated by the concentration of 

the releasedacetylcholine as function of the intensity of stimulation, since document 3 

shows that the quantity of acetylcholine released increases from 30 a.u  to 60 a.u when 

the stimulation intensity increases from 5a.u to 20 a.u.  

1  

4 Hypothesis:  

Botox inhibits the synthesis of Acetylcholine. 

Botox inhibits the exocytosis of Acetylcholine. 

Botox neutralizes Acetylcholine. 

Botox blocks the postsynaptic receptors. 

1/2 

5 The fluorescence in the presynaptic bud decreases from 50 a.u  before stimulation to 

5 a.u after stimulationin a medium without Botulinum toxin. However, in a medium 

containing Botulinum toxin, it remains almost constant at 50 a.u before and after 

stimulation. Thus, Botox blocks the release of neurotransmitters by exocytosis of the 

the presynaptic vesicles. Hence, in medium containingBotox, thequantity of 

releasedacetylcholine should be null. 

 

1 

6 Botox blocks the transmission of the nervous message at the level of neuromuscular 

synapses by blocking the release of acetylcholine. Thus preventing the permanent 

muscular contractions that are responsible for the signs of aging.  

WhenBotox is injected in small doses,its action will belimited on the treated 

zone.However, when it is used in high doses, its action is generalized on other muscles 

especially respiratory oneswhich will be permanently relaxed leading to death by 

asphyxia. 

½  

 

 

 

½  

 

Quantity of  acetylcholine 

(ina.u) 



 

Part of 

the 

exercise 

Exercise 2 

Role of the Liver in Glycemia Regulation  

Grade 

5 pts 

1.1 In individual X who was fasting, glycemia increases, following the ingestion of 50g of 

glucose, from 0.8 g/L at t= 0 min  to 1.7 g/L at t= 60 min, while it decreases to0.9 g/L 

between60min and 120 min. 

In individual Y who is fasting, glycemia decreases from 1 g/L to 0.7 g/l between from 

T0 and T2 while it increases slightly to 0.8 g/l atT3.  

 

 

¼ 

 

 

¼ 

 

1.2 The body is provided with a system of regulation able to correct hypoglycemia or 

hyperglycemia.  
1/2 

2 We observe brown color indicating the presence of glycogen only in section B done 

on the liver aftera meal rich in glucose. This shows that the liver stores glucose in the 

form of glycogen.  

1/2 

3 The fresh liver is cut into fragments, and then added into a crystallizer containing 

distilled water. After that a strip to detect glucose is introduced, the test is positive. 

After that the liver fragments are washed. After that the washed fragments are put in 

in a crystallizer and a strip to detect glucose is introduced, the test is negative. After 

incubation during 20 minutes at 37°C, a strip to detect glucose is introduced, the test is 

positive. 

1 

4 The glucose test becomes positive after the incubation of the washed liver fragments 

for 20 minutes. This shows that the liver releases glucose. On the contrary, the test 

remains negative when incubation is performed with insulin. This shows that insulin 

blocks the release of glucose byinhibitingglycogenolysis. 

The test becomes positive when incubation is performed withglucagon and this occurs 

only within 5 minutes, time that is less than the 20 minutes necessary to obtain a 

positive test in the medium containing only distilled water. This shows that glucagon 

accelerates the release of glucose; hence, it promotesglycogenolysis. So, 

glycogenolysis which is performed by the liver and which ensures the release of 

glucose is inhibited by insulin and promoted by glucagon. Knowing that insulin and 

glucagon are two hormones, soglycogenolysis is modulated by the action of these 

hormones, insulin and glucagon. 

 

½ 

 

 

 

 

 

½ 

 

 

 

 

½ 

 

5 Document 1 shows that the ingestion of glucose  provokes hyperglycemia between 

t=0 min and t= 60 min. Which stimulates the secretion of insulin by ß  cells of the 

islets of Langerhans of the pancreas. This hormone stimulates hepatic glycogenesis 

 (storage of glucose in the form of glycogen) and inhibits glycogenolysis leading to  a 

decrease in glycemiaat t=120min 

 

Fasting doesn’t allow anyexogeneous supply of glucose while glucose is constantly 

used by the body cells. Thus, glycemia decreases between T0 and T1 (document 1). 

This decrease stimulates the αcells of the islet of Langerhans to secrete glucagon. The 

latter stimulates hepaticglycogenolysis(releaseof glucose from the stored glycogen). 

This maintains a normal almost constant level of glycemia close to its initial value 

starting from T3. 

 

½ 

 

 

 

 

 

 

 

½ 

 

 

 

 

 

 

 

 



Part of 

the 

exercise 

Exercise 3 

Huntington Chorea 

Grade 

5 pts 

1 The allele of the disease is dominant with respect to the healthy allele, since normal 

children III3 and III4 have affected parents II1 and II2. Thus the normal allele is carried 

at least by one of the parents and masked by the allele of the disease. Let H be the 

symbol of the dominant allele of the disease and nthe symbol of the recessive normal 

allele. 

1/2 

2 If the allele is carried on the non-homologous segment of the chromosome Y, the 

disease would be transmitted from father to son, but the affected son II4 has a healthy 

father I1. Thus the gene is not carried on the non-homologous segment of the 

chromosome Y. 

If the gene is carried by the non-homologous segment of the chromosome X, the 

healthy girl IV1 must be homozygous of genotype Xn//Xn; she should have inherited 

thenormal allele from her father III1who should be healthy of genotype Xn//Y . But her 

father is affected.  Thus the gene is not carried by non-homologous segment of X. 

If the gene is carried by the homologous segments of X  and Y, healthy girl III3should 

have inheritedXn from her father II1; the healthy boy III4 should have inherited Yn 

from his father II1. Father II 1 should be healthy of genotype XnYn which is not the 

case ( II1 is affected) . thus the gene is not carried by the homologous segments of X 

and Y. 

Therefore, the gene is carried by an autosome.  

¼ 

 

 

 

 

¼ 

 

 

¼ 

 

 

¼ 

 

3 The mother II2 is affected by the disease and is heterozygous since she inherited the 

allele H from her mother and the allele n from her homozygous healthy father who 

produces only one type of gametes having the allele n. 

Thus she produces two types of gametes of equal probabilities: ½ H and ½ n. 

The affected father II1is heterozygous since he already has a healthy homozygous son 

III4 to whom he must have transmitted the recessive allele n.  

Thus he produces two types of gametes equal probabilities: ½ H and ½ n. 

 Since the affected allele of the disease is dominant;  it is sufficient for  III3 to have at 

least one allele of the disease in order to be affected . The genotype of III3 can be either 

 H//H ¼ or H//n ½ . Thus the risk for III3 to be affected is 3/4 of the children. 

 

Couple II5- II6 is healthy and recessivity is a criterion of purity. These parents produce 

only one type of gametes carrying the normal allele n. Thus all their children will be 

healthy. 

Therefore the risk for III5vto be affected is null. 

½  

 

 

 

 

 

 

 

 

 

 

 

½  

4 In healthy individuals, the number of repetitions of CAG varies between 8 and 30 for 

the types of alleles A1 till A12. Thus these alleles are associated to the normal 

phenotype.However, affected individuals present two groups of alleles: the first is 

identical to that present in healthy individuals with a number of repetitions of CAG 

between 8 and 30. The second group corresponds to alleles having a number of 

repetitions of CAG between 39 and 70. Thus these alleles which have a number of 

repetitions of CAG higher than 39 are associated to the disease. 

The origin of the disease is the high number of repetitions of CAG greater than 39  

1  

5  The real genotype of III3 is n//n or A6//A9. Since she has two alleles with a number of 

repetitions CAG that is respectively 10 and 15 which is less than 30 repetitions and thus 

correspond to the group of alleles of healthy individuals. These two alleles are among 

the ones that determine the normal phenotype. 

¾  

6-1 The average age of appearance of the disease decreases from 49 years to 25 years, when 

the number of repetitions of CAG triplet increases from 40 to 60.  

 

½ 

6-2 The factor determining the age of appearance of the disease is the high number of 

repetitions per allele(>40). 
¼ 

 



 

 

 

Part of 

the 

exercise 

Exercise4 

Fight against Ebola 

Grade 

5 pts 

1 A humoral specific immune response is triggered, since in case of Ebola the surviving 

individuals have a high amount of anti-Ebolaantibodies that are released by plasma cells 

that are the effectors of humoral specific immune response.  

A cell- mediated specific immune response is triggered, since the surviving 

individualsshow an important increase in the specific TcL which are the effectors of the 

cell mediated specific immune response. 

 

½  

 

 

 

½  

2 The amount of anti-Ebola antibodies is nil and remains constant on the 14th and 35th 

day, after the first and the second injection of the three types of vaccine. After the 3
rd

 

injection of vaccine, this amount increases to 1000 a.u on the 56
th

 day in individuals 

having received EIC + PIC, while its remains constant and nil in individuals having 

received the vaccine EIC or only the protein. This amount of antibodies increases in the 

three lots to reach 10000 a.u on the 84
th

 dayin individuals having received the vaccine 

EIC+PIC which is 10 times higher than the 1000a.u obtained when only the vaccine EIC 

or only the protein is administrated. This shows that the vaccine EIC+PIC is the most 

effective.  

 

 

3/4 

3      At the beginning of the specific immune response, macrophages act as  antigen 

presenting cells which induce the specific immune response. 

     At the end of the specific humoral immune response, they perform phagocytosis of 

the immune complex in order to eliminate antigens.  

 

1 

4 Between day 0 and day 20, the percentage of survival decreases from 100% to 80% in 

the lot receiving 4 injections.This decrease is 4 times more significant than that obtained 

in the lot receiving only 3 injections which reaches 20 %.  Thus, the condition for the 

vaccination against Ebola to be successful is to give 4 boosters. 

 

1/2 

5 The antibodies injected after 24 hours neutralize the antigen and slow down efficiently 

the propagation of virus which allows the body defenses to react and protect allthe  

monkeys (4/4) which remain alive. However, when the injection is delayed to 48 hours, 

the viruses multiply more rapidly than the lymphocytes involved in the specific immune 

response and infect a great number of cells before being neutralized by the specific 

injected antibodies. This reduces the efficiency of the body defense and sometimes 

renders it insufficient. This explains the death of two out of the four infected monkeys. 

1 

6 In serotherapy, the injected substances are the specific antibodies while in vaccination, 

the injected substances are viral or antigenic proteins. 

 

In serotherapy, the latency time is null while in vaccination, the  latency time is 2 weeks 

 

In serotherapy, the duration of protection time is short while in vaccination, the 

protection is more durable. 

¼ 

 

 

¼ 

 

¼ 
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